S L
SN
)

liptpddpsd

i
A
[.780
[45.21]

2. 110 |.435
[55.12] [36.45]
!

!

@ .130 13.30) BLIND HOLE

T 425 [10.801 #6-19 SCREW
FLANGE SEAL NOT SHOWN FOR
CLARITY.

6. MOUNTING SCREW TORQUE VALUES ARE AS FOLLOWS:

#6-19 SCREWS:

13£2.0 IN-LB [1.47£0.23 N-M].

#4-20 SCREWS: 842.0 IN-LB [.90£0.23 N-M}.
VALUES VALID FOR PLASTITE 48 SCREWS ONLY.

5. RECOMMENDED MOUNTING SCREWS (NOT INCLUDED): CAMCAR PLASTITE 48.
4. THIS RECEPTACLE MATES WITH DT06-85% PLUG -*#xx- ALL MODIFICATIONS.

3. SHELL MATERIAL: PLASTIC;

FLANGE SEAL MATERIAL: RUBBER.

2. DIMENSION TOLERANCE: £.025 [.64]; FOR PANEL CUTOUTS £.010 [.258].

NOTES:

. DIMENSIONS ARE IN INCHES [mm].

REV REVISITONS
c DT13-08P ¥ [Svw DESCRIPTION DATE | APPROVE
NC |NEW RELEASE PER E.O. Al13624 6/29/94 | J.A.
A {REVISED PER E.O. Al4754 i0/28/94; R.R.
B {REACTIVATED PER E.O. P17409 10/23/01] R.D.R.
C |REVISED PER E.O. P19404 /-20-% | RdDR
| 545 —m]
[39.24]
965 =~ a— | 388 ——=]
[24.51] [35.261
— 215 - 895 -
i _i [5.46] £22.131]
— H T
<EE) J A @ 062
w0 =9 1.070 [1.56] ‘
@wo«@— 565 [27.18]
Lo ~o- [14.35] 1,390 595
-0 b f [35.31] l (15,111
— I~ , ) f
e | ,E,—
:] 3X @110 [2.791 THRUY -
#4-20 SCREW L
=1 160 37103 250
(4.06] ' £6.35]
240 ——— - [53 —oo] jet—o
[6.101 [3.89]
450 b—
[11.43] —— | 5|9
£38.591]
SIGNATURE & DATE PCB MOUNT EP ot
OR | P. BURKE 09/05/01 RECEPTACLE The Deutsch Company
cHK o0 o0/t 8 PN - 90 TALS 8 3%‘%%“%3021%‘;“ AVE
PE | Whoku, 111506 DT SERIES HEMET, CALIF. 92545
2.N
APPD MMZ&% , B | DT1U \J8P ¥
SCALE NONE| wT ENVELOPE e COPE, | SHEET | OF 2




DT13-08PA

REV REVIS{ONS
¢ DT13-08P% [ svm DESCRIPTION DATE | APPROVED
¢ | SEE SHEET ONE /2000 RDA.
—t— | 475 e
[37.47]
KEYWAY— R 040 4X )
' . 4x 1 1.105
(1. 023 [28.07] P 190
$
|
. 480 <1“ .932
(12191 ‘4}

9

| /‘_
R.100 4X

[2.54]

|
\

4

.936
123.711]

|

()

~— | . [80

[45.211

' i [23.771
A )
>
R.O70 4X

[1.78]

@155 2X
[3.94]

R.250 4X
[6.351]

DT13-08PB DT13-08PC DT13-08PD
COLOR: GREY COLOR: BLACK COLOR: GREEN COLOR: BROWN RECOMMENDED PANEL CUTOUTS
SIGNATURE & DATE PCB MOUNT EP EOE
DR % BURKE 09;05/0/ o PI'!ECEZTOQCI_E%'LS The Deutsch Company
CHK B> L WI(3/66 - DEUTSCH 1.P.D.
R DT SeRes B ki ue
NOTES: MWPd | SZluear /1704 B DT13-08Px
SCALE NONE | wT ENVELOPE e | GRS, | SHEET 2 OF 2




	..	iffDT13-08P-C.tif-  1
	..	iffDT13-08P-C.tif-  2

